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Q.No.1 

(1)       The number 0.0023 in scientific notation can be expressed as:- 

    (A) 41023 −×   (B) 21023.0 −×  (C) 3103.2 −×   (D) 41023 ×  

(2)       The SI unit of coefficient of viscosity is:-  

    (A) 12 −− smKg   (B) 11 −− smKg   (C) 21 −− smKg   (D) msKg  

(3)       The magnitude of the resultant of two forces is F.  The magnitude of each force is also F. 

    The angle between the forces must be:-     (A) o60       (B) o90        (C) o120       (D) o180  

(4)       Tick the correct relation.   

    (A)  kji ˆˆˆ −=×   (B) 0ˆˆ =× ji   (C) kij ˆˆˆ =×  (D) kji ˆˆˆ =×  

(5)       At highest point, the vertical component of velocity of projectile becomes:- 

  (A) Maximum  (B) Zero  (C) Minimum  (D) θCosVi  

(6)     1 Kilowatt hour is equal to:- 

  (A) J6106.3 ×   (B) JM6.3   (C) J51036 ×  (D) All of these 

(7)      Moment of inertia I is given by:- 

    (A)  rm    (B) 2rm   (C) 22 rm   (D) 3rm  

(8)      Angular acceleration is produced by:- 

   (A) Power   (B) Torque  (C) Pressure  (D) Force 

(9)      When droplet has terminal velocity, the acceleration is:- 

  (A) Zero   (B) Variable  (C) 2980 −scm   (D) 28.9 −sm  

(10)   Total energy of a Particle executing SHM at any displacement x  is given by:- 

    (A) xK    (B) xK
2

1
  (C) 2

0
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(11)    Velocity of sound is independent of:- 

     (A) Temperature  (B) Density  (C) Medium  (D) Pressure  

(12)    The distance between two adjacent nodes and antinodes is:-     (A) 
4

λ
       (B) 

2

λ
      (C) λ      (D) λ2  

(13)    Polarization of light proves that light waves are:-              (A) Electromagnetic waves    

     (B) Longitudinal waves      (C) Transverse waves    (D) Very fast moving waves 

(14)    Newton’s rings are formed due to:- 

   (A) Diffraction  (B) Polarization (C) Interference (D) Resonance 

(15)    The unit of power of a lens is:-           (A) Metre    (B) Watt (C) Newton    (D) Diopter 

(16)    Efficiency of Carnot Engine depends on the:- 

   (A) Difference in temperature of hot and cold reservoir     (B) Nature of working substance 

   (C) Temperature of hot reservoir  (D) Temperature of cold reservoir  

(17)     The equation  µ∆−=W  represents:- 

   (A) Isothermal Process     (B) Adiabatic Process   (C) Isobaric Process   (D) Isochoric Process  
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